[N of associated tracks (simToReco) vs hit ]

N of simulated tracks vs hit

60

TP hits

30

20

80

60 70

10 20 30 40 50

: 2=
[T 1 A
5 5

o o

- -

sa|oedBbupoelL

TP hits

=)
225
i
o QL
i
=5Z
S0
S62
222
w I
Wiz
D 8 E 3
= E
5858
ERRCh]
EXFEEE
255 s
NN
-
T_T,T_T,
555>
FEegoge|
(agayayal
£

o

k)

z

25

TP layers

20

15

10

25

20
TP layers

e

| [
15

Ul

10

< )
o o
— —

sa|onedBupORIL

3

[N of associated tracks (simToReco) vs pixel layer ]

[N of simulated tracks vs pixel layer ]

7 8

6
TP pixel layers

el

6
TP pixel layers

5

sapnsedBupoel L

[N of associated tracks (simToReco) vs 3D layer |

[[N of simulated tracks vs 3D layer ]

18 20

16
TP 3D layers

6 8 10 12 14

4

2

20

TP 3D layers

<
o
-

sajonredbupioel L

3

0 2 4 6 8 10 12 14 16 18

0.95,



	Contents
	Page 1


